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%Sj Study Guide and Intervention (continueq)

Writing Equations in Point-Slope Form
Forms of Linear Equations

Slope-Intercept .
= + = h =y
Form y=mx-+b m = slope; b = y-intercept
Point-Slope _ _ . . . .
Form y— Yy, =m(x—x,) m = slope; (x4, y,) is a given point.
Standard Ax+ By=C A and B are not both zero. Usually A is nonnegative and A, B, and C
Form are integers whose greatest common factor is 1.

Writey +5 = S0 ~ 6) in

standard form.

Writey -2 = —1(x - 8)

in slope-intercept form.

_ 2. _ . .
y+5= g(x 6) Original equation y—2= _%(x — 8) Original equation
3(y +5)= 3(%)(36 — 6) Multiply each side by 3. y— 2= —%x + 2 Distributive Property
3y + 15 = 2(x — 6) Distributive Property y = _%x + 4 Add 2 to each side.

3y + 15 = 2x — 12

Distributive Property

By = 2x — 27 Subtract 15 from e‘_mh side. Therefore, the slope-intercept form of the
—2x + 3y = =27 Add —2x to each side. ]
2x — 3y = 27 Multiply each side by —1. equation i1s y = _Zx + 4.

Therefore, the standard form of the equation

is 2x — 3y = 27.

Exercises

Write each equation in standard form.

L.y +2=-3x—-1)

4.y +3=—( —5)

2.y—1=—%(x—6)

3.y+2=§(x—9>

_5 _ 2 _
— —g(x+3) 6.y +4= 5(x 1)

Write each equation in slope-intercept form.

7.y +4 =4x — 2)
10 —6—3(—1)
.y =3{x — 3
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8.y~ 5= 3@ —6)

1.y + 4 = —2(x + 5)

9.y—8=—%(x+8)
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